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HOMEWORK Solutions...

Name : Score :

Teacher : Date :

Converting English and Metric

1) 22 miles = 3541 kilometers 35.40

2) 12 yards = 1097 meters

3) 10 miles = 16.09 kilometers

4) 1212 miles = _195 kilometers

5) 591 inches = 15 centimeters

6) 9.84 yards =_9 meters

7y inches = _17.78 centimeters

8 ) 3.83 yards = 35 meters 3,{,.\,(M
9) 65 inches = _165 centimeters b
10) 5.28 miles = 85 kilometers

11) 4.92 yards = _45 meters

12) 4 miles = 6.44 kilometers

13) 1 yards = 10.08 meters

14) 2 yards = _1.83 meters

15) 145 inches = 36.83 centimeters

16) A7 inches = 43.18 centimeters

17) 1.5 miles = 1851 kilometers

18 ) 20.23 yards = _185 meters

19) 4.92 inches = 125 centimeters

20) 13.05 miles = 21 kilometers
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Problems with Homework?
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4.2 - Converting Measurements

Make Connections
Two cars are driven in opposite directions from a Canada/United States border
crossing.

In one hour, Hana drove 62 mi. south while Farrin drove 98 km north.
How could you determine which vehicle travelled farther from the border?

O mi X108 K - qg 1
v\ km

'HG) & thC ‘Fw]‘"\er

Each measurement in the imperial system relates to a corresponding
measurement in the SI system.

This table shows some approximate relationships between imperial units and
SI units.

SI Units to Imperial Units Imperial Units to ST Units

lmm= 7 lin.= 7 GO

lem= 7 L= 7
1ft. =
lm= 7 lyd = ?
I m= lyd. =
lkm= 7 lmi= 7

We can use the data in the table above to convert between SI and imperial units
of measure.

1.3 Relating SI and Imperial Units

September 13, 2018
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THE CONVERSION FACTORS
BETWEEN SI AND IMPERIAL UNITS

S to Impenal Impenal to SI
1 mm = 0.0394 in Tin=254mm
1 cm = 0.3937 in 1inch = 2.54 cm
1m = 3.2808 ft 1ft=0.3048m
Tm = 1.0936 yd Tyd =0.9144 m
1 km = 0.6214 mi 1 mi=1.6093 km

IMPORTANT CONVERSIONS...

1'm=1.0936 yd )

1 mi. = 1.6093 km

an. =2.54 cm/
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PRACTICE: Concerting IMPERIAL to METRIC

Convert each measurement. Answer to the nearest tenth.
a) 16 in. to centimetres
b) 4 ft. to metres

¢) 5yd. to metres

d) 1650 yd. to kilometres
e) 6 mi. to kilometres

f) 2in. to millimetres

AY \bin x asdcm
T

BY 4ptx ¥ | w90,
3 l. 093 99

) s dy L m
I e yd = 4.S7m

1.3 Relating Sl and Imperial Units
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PRACTICE: Concerting METRIC to IMPERIAL

Convert each measurement.

a) 25 mm to the nearest inch

b) 2.5 m to the nearest foot

¢) 10 m to the nearest yard

d) 150 km to the nearest mile

Yy (m ' ,
obgf)mm X 0 mm X 02——-.51 c‘:) —’-O-?gm 6@

1) 5 ¥ H0136 I x 3Ft - 20
——m
W

¢ 10m X 36 s SS = 10-94 44

M :
) 190 kX ot = 43 0L,

1.3 Relating Sl and Imperial Units

[

m Converting from Metres to Feet

A bowling lane is approximately 19 m long.

What is this measurement to the nearest foot?

@ SOLUTION Alength of 19 m is approximately 62 ft.

(Erase to reveal)

&
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1.3 Relating SI and Imperial Units
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" TRY THIS ONE...

The tallest structure in Canada is the CN Tower in Toronto.
It is 553.3 m tall. The tallest structure in the United States
is the Willis Tower, previously known as the Sears Tower,
in Chicago. It is 1451 ft. tall.
a) Determine the height of the CN Tower in feet and the
height of the Willis Tower in metres. 6@
b) Which structure is taller? Explain how you know.
¢) Determine the difference in the heights of the structures,
in metres and to the nearest foot.

%) 553 3m x “016Yd 3 AF - (BIS.2ZTH

M ' yd
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= “ ,, 03wy 1:3Relating Sl and Imperial Units

[

m Converting between Miles and Kilometres

After meeting in Emerson, Manitoba, Hana drove 62 mi. south
and Farrin drove 98 km north. Who drove farther?

@SOLUTION : :

(Erase to reveal)

See eo:rla'cr X lcsxsn

ONIONVLISHIANN YNOA ¥IIHD @

1.3 Relating Sl and Imperial Units
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'TRY THIS ONE...

The Fraser River is approximately 1375 km long.
The Tennessee River is approximately 886 mi. long.
Which river is longer? Justify your answer.

FEGmix LeD3 Bm _ jqas 84 ko
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1.3 Relating Sl and Imperial Units

[

m Solving a Problem that Involves Unit Conversions

Alex is 6 ft. 2 in. tall. To list his height on his driver’s
license application, Alex needs to convert this
measurement to centimetres.

What is Alex’s height to the nearest centimetre? ¢
X
@ SOLUTION andesti Alex is approximately 85 cm tall.

(Eral&'t8 Febigsfoable

6Fft2in = {(x12+2
= 74//
74”" a,SL‘ C'.'V\ _ |87-?(DC"’1

n
=188

ONIGNVLSHIANN YNOA HD3IHD @

1.3 Relating Sl and Imperial Units
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S3ENLT IR Estimating and Calculating Using Unit Conversions

A truck driver knows that her semitrailer is 3.5 m high. The
support beams of a bridge are 11 ft. 9 in. high. Will the vehicle fit
under the bridge? Justify the answer.

350 cm = 11.4829... ft.
@ sorution

1
This measurement is a little less than 11 3 ft. or 11 ft. 6 in., so the
vehicle will fit under the bridge

3.5mx M0 3 P ingeg pr

(Erase to reveal)

ONIGNYLSHIANN HNOA ¥23IHD &

1.3 Relating SI and Imperial Units

(TRY THIS ONE...

A retail fabric store advertises a storewide sale.

It lists a certain material for $0.89/yd. A fabric

warehouse is selling the same material for

$0.93/m.

a) Which store has the better price?

b) Use mental math and estimation to justify
that the answer is reasonable.

he wave hoese has +he ‘QQR"’ f'f\'“—-

1.3 Relating Sl and Imperial Units
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"LAND AREAS...

The imperial unit to measure an area of land is
the acre. During the initial agricultural
expansion of the western provinces, the
Canadian government offered 160 acres of land
free to settlers who were willing to immigrate to
Canada. Today, Canada uses the hectare to 6@
Ed £ 1and area:
a) How many hectares did each settler receive?
b) One hundred sixty acres is a square with a
side length of one-half a mile. How many
hectares are in one square mile?

) ‘Laqcrcs X \ hechc = ¢4. 15 /"'c+‘i"€S

Q.41 qacs
o %(6‘&,15) - 259 hecfarcs

1.3 Relating Sl and Imperial Units

HOMEWORK...

Page 159: #1 -7
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CHECK YOUR UNDERSTANDING

1. A Canadian football field is approximately 59 m wide.

What is this measurement to the nearest foot?

1.3 Relating SI and Imperial Units

CHECK YOUR UNDERSTANDING

2. After meeting in Osoyoos, B. C.. Takoda drove 114 km north
and Winona drove 68 mi. south. Who drove farther?

1.2 Relating SI and Imperial Units

12
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CHECK YOUR UNDERSTANDING

3. Nora knows that she is 5 ft. 7 in. tall.
a) What height in centimetres will she list on her driver’s license application?

b) Use mental math and estimation to justify that theanswer is reasonable. 6@

1.3 Relating Sl and Imperial Units

CHECK YOUR UNDERSTANDING

4. A truck driver knows that his load is 15 ft. wide. Regulations
along his route state that any load over 4.3 m wide must
have wide-load markers and an escort with flashing lights.
Does this vehicle need wide-load markers? Justify your answer. 6@

1.2 Relating SI and Imperial Units

13
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Name : Score : e

Teacher : Date : e e

Converting English and Metric

1) 22 miles = kilometers
2) 12 yards = meters

3) _10 miles = kilometers
4) miles = _195 kilometers
5) inches = _15 centimeters
6 ) yards =_9 meters
7)1 inches = centimeters
8) yards = 35 meters

9) inches = _165 centimeters
10) miles = _85 kilometers
11) yards = _45 meters
12) 4 miles = kilometers
13) 11 yards = meters
14) 2 yards = meters

16) 145 inches = centimeters
16) 17 inches = centimeters
17) 115 miles = kilometers
18) yards = _185 meters

19) inches = _125 centimeters
20) miles = _21 kilometers

%7 Math-Aids.Com
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